ENERGY MISER

In your article entitled "Energy Miser for
Your Furnace,” Radio-Electronics, August
1982, the equation for the temperature con-
version is not printed correctly. It should read:
Temp (in °F) = 1.8 x Temp (°K) — 459-67

The factor 1.8 is equal to the usual conver-
sion factor of 9/5, as everybody knows. But,
without the factor in the equation, there may
be misunderstanding in the text.

In the description that follows the equation,
the text mentioned R1 and R2 for water-
temperature sensor, IC6. As far as the circuit
diagram is concerned, R1 and R2 are in the
air-temperature sensor IC5 circuit. You see,
there is also a little mix-up here.

H. HSU
Professor, Department of Engineering,
Ohio State University R-E

effect with a synthesizer.”





